# ON THE FUZZY STABILITY OF CUBIC MAPPINGS USING FIXED POINT METHOD

#### HEEJEONG KOH

ABSTRACT. Let X and Y be vector spaces. We introduce a new type of a cubic functional equation  $f: X \to Y$ . Furthermore, we assume X is a vector space and (Y, N) is a fuzzy Banach space and then investigate a fuzzy version of the generalized Hyers-Ulam stability in fuzzy Banach space by using fixed point method for the cubic functional equation.

#### 1. Introduction

The stability problem of functional equations originated from the question of Ulam [26] concerning the stability of group homomorphisms. It was answered by Hyers [10] on the assumption that the spaces are Banach spaces and generalized by Aoki [1] for the stability of the additive mapping and Rassias [23] for the stability of the linear mapping by considering the unbounded Cauchy difference. The paper [23] has influentially provided in development of what we call the *Hyers-Ulam stability* or the *Hyers-Ulam-Rassias stability* of functional equations. Since then the stability problems of several functional equations and various normed spaces have been extensively investigated and generalized by a number of authors [7], [9], [11], [23] and [2].

In [13], Jun et al. considered the following cubic functional equation

(1.1) 
$$f(ax+y) + f(ax-y) = a\Big(f(x+y) + f(x-y)\Big) + 2a(a^2-1)f(x)$$

for all  $x, y \in X$  and  $a \in \mathbb{Z}$   $(a \neq 0, \pm 1)$ . They investigated the Hyers-Ulam-Rassias stability problem for the functional equation (1.1).

In this paper, we will consider a new type of the following cubic functional equation

Received by the editors September 4, 2012. Revised October 26, 2012. Accepted Oct. 31, 2012. 2010 Mathematics Subject Classification. 39B52.

Key words and phrases. stability, fixed point, fuzzy norm, functional equation, cubic mapping.

(1.2) 
$$(a+1)f(ax+y) + (a-1)f(ax-y) + 2(a^2-1)f(y)$$
$$= 2a^2f(x+y) + 2a^2(a^2-1)f(x)$$

for all  $x, y \in X$  and  $a \in \mathbb{Z} (a \neq 0, \pm 1)$ .

In 1984, Katsaras [14] and Wu and Fang [27] independently introduced a notion of a fuzzy norm and also Wu and Fang gave the generalization of Kolmogoroff normalized theorem for fuzzy topological linear space. Since then some mathematicians have defined fuzzy metrics and norms on a linear space from various points of view; see [3], [8], [16], [28] and [19]. In 1994, Cheng and Mordeson [6] introduced a definition of fuzzy norm on a linear space in such a manner that the corresponding induced fuzzy metric is of Kramosil and Michalek type [15]. In 2003, Bag and Samanta [3] modified the definition of Cheng and Mordeson [6]. Bag and Samanta [3] introduced the following definition of fuzzy normed spaces. We will use the definition to prove a fuzzy version of the generalized Hyers-Ulam stability for the functional equation (1.2) in the fuzzy normed vector space setting.

**Definition 1.1.** Let X be a real vector space. A function  $N: X \times \mathbb{R} \to [0, 1]$  is called a *fuzzy norm* on X if for all  $x, y \in X$  and all  $s, t \in \mathbb{R}$ ,

- $(N_1) N(x, t) = 0 \text{ for } t \leq 0;$
- $(N_2)$  x = 0 if and only if N(x, t) = 1 for all t > 0;
- $(N_3) \ N(cx, t) = N(x, \frac{t}{|c|}) \text{ if } c \neq 0;$
- $(N_4) N(x+y, s+t) \ge \min \{N(x, s), N(y, t)\};$
- $(N_5)$   $N(x, \cdot)$  is a non-decreasing function of  $\mathbb{R}$  and  $\lim_{t\to\infty} N(x, t) = 1$ ;
- $(N_6)$  for  $x \neq 0$ ,  $N(x, \cdot)$  is continuous on  $\mathbb{R}$ .

The pair (X, N) is called a fuzzy normed vector space.

Mirmostafaee et al. [19] and Mirzavaziri and Moslehian [20] introduced some properties of fuzzy normed vector spaces and examples of fuzzy norms.

**Example 1.2.** Let  $(X, ||\cdot||)$  be a real normed space. Define

$$N(x, t) = \begin{cases} \frac{t}{t + ||x||} & \text{when } t > 0, t \in \mathbb{R} \\ 0 & \text{when } t \le 0, \end{cases}$$

where  $x \in X$ . Then (X, N) is a fuzzy normed space.

The following definitions in fuzzy normed vector space were given in [3].

**Definition 1.3.** Let (X, N) be s fuzzy normed vector space. A sequence  $\{x_n\}$  in X is said to be *convergent* or *converge* if there exists an  $x \in X$  such that  $\lim_{n\to\infty} N(x_n - x_n)$ 

x, t) = 1 for all t > 0. In this case, x is called the *limit* of the sequence  $\{x_n\}$  and we denote it by N- $\lim_{n\to\infty} x_n = x$ .

**Definition 1.4.** Let (X, N) be s fuzzy normed vector space. A sequence  $\{x_n\}$  in X is called *Cauchy* if for each  $\varepsilon > 0$  and each t > 0 there exists an  $n_0 \in \mathbb{N}$  such that for all  $n \geq n_0$  and all d > 0, we have  $N(x_{n+d} - x_n, t) > 1 - \varepsilon$ .

It is well-known that every convergent sequence in a fuzzy normed vector space is Cauchy. If each Cauchy sequence is convergent, then the fuzzy normed space is said to be *complete* and the fuzzy normed vector space is called a *fuzzy Banach space*.

Now, we will state the theorem, the alternative of fixed point in a generalized metric space.

**Definition 1.5.** Let X be a set. A function  $d: X \times X \to [0, \infty]$  is called a generalized metric on X if d satisfies

- (1) d(x, y) = 0 if and only if x = y;
- (2) d(x, y) = d(y, x) for all  $x, y \in X$ ;
- (3)  $d(x, z) \le d(x, y) + d(y, z)$  for all  $x, y, z \in X$ .

**Theorem 1.6** (The alternative of fixed point [17], [25] ). Suppose that we are given a complete generalized metric space (X,d) and a strictly contractive mapping  $J: X \to X$  with Lipschitz constant 0 < L < 1. Then for each given  $x \in X$ , either

$$d(J^n x, J^{n+1} x) = \infty \text{ for all } n \ge 0,$$

or there exists a natural number  $n_0$  such that

- (1)  $d(J^n x, J^{n+1} x) < \infty \text{ for all } n > n_0;$
- (2) The sequence  $\{J^n x\}$  is convergent to a fixed point  $y^*$  of J;
- (3)  $y^*$  is the unique fixed point of J in the set

$$Y = \{ y \in X | d(J^{n_0}x, y) < \infty \};$$

(4) 
$$d(y, y^*) \leq \frac{1}{1-L} d(y, Jy) \text{ for all } y \in Y.$$

In 1996, Isac and Rassias [12] were first to provide applications of new fixed point theorems for the proof of stability theory of functional equations. By using fixed point methods the stability problems of several functional equations have been extensively investigated by a number of authors; see [4], [5], [21] and [24].

In this paper, we will prove the generalized Hyers-Ulam stability of the cubic functional equation (1.2) in fuzzy Banach spaces by using fixed point method.

## 2. Cubic Functional Equations

**Theorem 2.1.** If a mapping  $f: X \to Y$  satisfies the functional equation (1.2) if and only if f satisfies the functional equation (1.1).

*Proof.* Suppose the mapping  $f: X \to Y$  satisfies the equation (1.2). It is easy to show that

$$f(0) = 0$$
,  $f(-x) = -f(x)$  and  $f(ax) = a^3 f(x)$ 

for all  $x \in X$  and  $a \in \mathbb{Z}$   $(a \neq 0, \pm 1)$ . Letting y = ay in the equation (1.2), we have

(2.1) 
$$a(a+1)f(x+y) + a(a-1)f(x-y) + 2a(a^2-1)f(y)$$
$$= 2f(x+ay) + 2(a^2-1)f(x)$$

for all  $x, y \in X$ . Now putting y = -ay in (1.2), we get

(2.2) 
$$a(a+1)f(x-y) + a(a-1)f(x+y) - 2a(a^2-1)f(y)$$
$$= 2f(x-ay) + 2(a^2-1)f(x)$$

for all  $x, y \in X$ . Adding two equations (2.1) and (2.2),

$$a^{2}f(x+y) + a^{2}f(x-y) = f(x+ay) + f(x-ay) + 2(a^{2}-1)f(x)$$

for all  $x, y \in X$ . Replacing x by ax in the previous equation,

$$f(ax + y) + f(ax - y) = a(f(x + y) + f(x - y)) + 2a(a^{2} - 1)f(x),$$

that is, it satisfies the equation (1.1).

Conversely, suppose the mapping  $f: X \to Y$  satisfies the equation (1.1). It also satisfies the following properties:

$$f(0) = 0$$
,  $f(-x) = -f(x)$  and  $f(ax) = a^3 f(x)$ 

for all  $x \in X$  and  $a \in \mathbb{Z}$   $(a \neq 0, \pm 1)$ . Letting y = ay in the equation (1.1), we get

(2.3) 
$$a^3 f(x+y) + a^3 f(x-y) = a \left( f(x+ay) + f(x-ay) \right) + 2a(a^2-1)f(x)$$

for all  $x, y \in X$ . Exchanging x and y in the previous equation,

$$(2.4) f(ax+y) - f(ax-y) + 2(a^2-1)f(y) = a^2 (f(x+y) - f(x-y))$$

for all  $x, y \in X$ . Replacing x by ax in the equation (2.3),

(2.5) 
$$af(ax + y) + af(ax - y) = a^2 (f(x + y) + f(x - y)) + 2a^2(a^2 - 1)f(x)$$

for all  $x, y \in X$ . Now adding two equations (2.4) and (2.5), we have the equation (1.2), as desired.

## 3. Fuzzy Stability of Cubic Mappings

Let us fix some notations which will be used throughout this paper. We assume X is a vector space and (Y, N) is a fuzzy Banach space. Using fixed point method, we will prove the generalized Hyers-Ulam stability of the functional equation satisfying equation (1.2) in fuzzy Banach space. For a given mapping  $f: X \to Y$ , let

(3.1) 
$$D_a f(x,y) := (a+1)f(ax+y) + (a-1)f(ax-y)$$
$$-2a^2 f(x+y) - 2a^2 (a^2-1)f(x) + 2(a^2-1)f(y)$$

for all  $x, y \in X$  and  $a \in \mathbb{Z} (a \neq 0, \pm 1)$ .

**Theorem 3.1.** Let  $a \in \mathbb{Z}$   $(a \neq 0, \pm 1)$  and  $\phi : X^2 \to [0, \infty)$  be a function such that there exists an 0 < L < 1 with

$$\phi(x,y) \le \frac{L}{|a|^3} \phi(ax,ay)$$

for all  $x, y \in X$ . Let  $f: X \to Y$  be a mapping satisfying

(3.2) 
$$N(D_a f(x, y), t) \ge \frac{t}{t + \phi(x, y)}$$

for all  $x, y \in X$  and all t > 0. Then  $C(x) := N - \lim_{n \to \infty} a^{3n} f\left(\frac{x}{a^n}\right)$  exists for each  $x \in X$  and defines a cubic mapping  $C: X \to Y$  such that

(3.3) 
$$N(f(x) - C(x), t) \ge \frac{2a^4(1-L)t}{2a^4(1-L)t + L\phi(x, 0)}$$

for all  $x \in X$  and all t > 0.

*Proof.* By letting y = 0 in the inequality (3.2), we have

(3.4) 
$$N(2af(ax) - 2a^4f(x), t) \ge \frac{t}{t + \phi(x, 0)}$$

for all  $x \in X$  and all t > 0. We consider the set

$$S := \{q : X \to X\}$$

and the mapping d defined on  $S \times S$  by

$$d(g, h) = \inf\{\mu \in \mathbb{R}^+ \mid N(g(x) - h(x), \mu t) \ge \frac{t}{t + \phi(x, 0)}, \forall x \in X \text{ and } t > 0\}$$

where inf  $\emptyset = +\infty$ , as usual. Then (S, d) is a complete generalized metric space; see [18, Lemma 2.1]. Now let's consider the linear mapping  $J: S \to S$  such that

$$Jg(x) := a^3 g\left(\frac{x}{a}\right)$$

for all  $x \in X$  . Let  $g\,, h \in S$  be given such that  $d(g\,,h) = \varepsilon\,.$  Then

$$N(g(x) - h(x), \varepsilon t) \ge \frac{t}{t + \phi(x, 0)}$$

for all  $x \in X$  and all t > 0.

$$\begin{split} N\Big(Jg(x)-Jh(x),\,L\varepsilon t\Big) &= N\Big(a^3g\Big(\frac{x}{a}\Big)-a^3h\Big(\frac{x}{a}\Big),\,L\varepsilon t\Big) \\ &= N\Big(g\Big(\frac{x}{a}\Big)-h\Big(\frac{x}{a}\Big),\,\frac{L}{|a|^3}\varepsilon t\Big) \geq \frac{\frac{L}{|a|^3}t}{\frac{L}{|a|^3}t+\phi(\frac{x}{a},\,0)} \\ &\geq \frac{\frac{L}{|a|^3}t}{\frac{L}{|a|^3}t+\frac{L}{|a|^3}\phi(x,\,0)} = \frac{t}{t+\phi(x,\,0)} \end{split}$$

for all  $x \in X$  and all t > 0.  $d(g, h) = \varepsilon$  implies that  $d(Jg, Jh) \leq L\varepsilon$ . Hence we get

$$d(Jg, Jh) \leq L d(g, h)$$

for all  $g, h \in S$ . The inequality (3.4) implies that

$$N\left(f(x) - a^3 f\left(\frac{x}{a}\right), \frac{L}{2a^4}t\right) \ge \frac{t}{t + \phi(x, 0)}$$

for all  $x \in X$  and all t > 0. Hence we have  $d(f, Jf) \le \frac{L}{2a^4}$ . By Theorem 1.6, there exists a mapping  $C: X \to Y$  such that

(1) C is a fixed point of J, that is,

$$(3.5) C\left(\frac{x}{a}\right) = \frac{1}{a^3}C(x)$$

for all  $x \in X$ . The mapping C is a unique fixed point of J in the set  $M = \{g \in S \mid d(f,g) < \infty\}$ . This means that C is a unique mapping satisfying the equation (3.5) such that

$$\inf \{ \mu \in \mathbb{R}^+ \mid N(f(x) - C(x), \mu t) \ge \frac{t}{t + \phi(x, 0)}, \forall x \in X \text{ and } t > 0 \}$$

for all  $x \in X$  and all t > 0;

(2)  $d(J^n f, C) \to 0$  as  $n \to \infty$ . This implies the following equality

$$N-\lim_{n\to\infty} a^{3n} f\left(\frac{x}{a^n}\right) = C(x)$$

for all  $x \in X$  and all t > 0;

(3)  $d(f, C) \leq \frac{1}{1-L} d(f, Jf)$ , which implies the inequality

$$d(f,\,C) \leq \frac{1}{1-L} \cdot \frac{L}{2a^4} = \frac{L}{2a^4(1-L)} \,.$$

It implies that

$$N(f(x) - C(x), \frac{L}{2a^4(1-L)}t) \ge \frac{t}{t + \phi(x, 0)}$$

for all  $x \in X$  and all t > 0. By replacing t by  $\frac{2a^4(1-L)}{L}\,t\,,$  we have

$$N(f(x) - C(x), t) \ge \frac{2a^4(1-L)t}{2a^4(1-L)t + L\phi(x, 0)}$$

for all  $x \in X$  and all t > 0. That is, the inequality (3.3) holds. By letting  $x = \frac{x}{a^n}$  and  $y = \frac{y}{a^n}$  in the inequality (3.2), we have

$$N\left(a^{3n}D_a f\left(\frac{x}{a^n}, \frac{y}{a^n}\right), |a|^{3n} t\right) \ge \frac{t}{t + \phi\left(\frac{x}{a^n}, \frac{y}{a^n}\right)}$$

for all  $x, y \in X$ , all t > 0 and all  $n \in \mathbb{N}$ . Replacing t by  $\frac{t}{|a|^{3n}}$ ,

$$N\left(a^{3n}D_{a}f\left(\frac{x}{a^{n}},\frac{y}{a^{n}}\right),t\right) \ge \frac{\frac{t}{|a|^{3n}}}{\frac{t}{|a|^{3n}}+\phi(\frac{x}{a^{n}},\frac{y}{a^{n}})} \ge \frac{t}{t+L^{n}\phi(x,y)}$$

for all  $x, y \in X$ , all t > 0 and all  $n \in \mathbb{N}$ . Since  $\lim_{n \to \infty} \frac{t}{t + L^n \phi(x, y)} = 1$  for all  $x, y \in X$  and all t > 0, we may conclude that

$$N(D_aC(x, y), t) = 1$$

for all  $x, y \in X$  and all t > 0. Thus the mapping  $C: X \to Y$  is the cubic mapping.

**Corollary 3.2.** Let  $\theta \geq 0$ , p > 3 be a real number and X be a normed linear space with norm  $||\cdot||$ . Suppose  $f: X \to Y$  is a mapping satisfying

(3.6) 
$$N(D_a f(x, y), t) \ge \frac{t}{t + \theta(||x||^p + ||y||^p)}$$

for all  $x, y \in X$  and all t > 0. Then  $C(x) := N - \lim_{n \to \infty} a^{3n} f\left(\frac{x}{a^n}\right)$  exists for each  $x \in X$  and defines a cubic mapping  $C: X \to Y$  such that

$$N(f(x) - C(x), t) \ge \frac{2a(a^p - a^3)t}{2a(a^p - a^3)t + \theta ||x||^p}$$

for all  $x \in X$  and all t > 0.

*Proof.* The proof follows from Theorem 3.1 by taking  $\phi(x, y) = \theta(||x||^p + ||y||^p)$  for all  $x, y \in X$  and  $L = a^{3-p}$ .

**Theorem 3.3.** Let  $a \in \mathbb{Z}$   $(a \neq 0, \pm 1)$  and  $\phi : X^2 \to [0, \infty)$  be a function such that there exists an 0 < L < 1 with

$$\phi(x,y) \le |a|^3 L \phi(\frac{x}{a}, \frac{y}{a})$$

for all  $x, y \in X$ . Let  $f: X \to Y$  be a mapping satisfying

(3.7) 
$$N(D_a f(x, y), t) \ge \frac{t}{t + \phi(x, y)}$$

for all  $x, y \in X$  and all t > 0. Then  $C(x) := N - \lim_{n \to \infty} a^{-3n} f(a^n x)$  exists for each  $x \in X$  and defines a cubic mapping  $C: X \to Y$  such that

(3.8) 
$$N(f(x) - C(x), t) \ge \frac{2a^4(1-L)t}{2a^4(1-L)t + \phi(x, 0)}$$

for all  $x \in X$  and all t > 0.

*Proof.* Let (S, d) be the generalized metric space defined in the proof of Theorem 3.1. Consider the linear mapping  $J: S \to S$  such that

$$Jg(x) := \frac{1}{a^3}g(ax)$$

for all  $x \in X$ . Let  $g, h \in S$  be given such that  $d(g, h) = \varepsilon$ . Then

$$N(g(x) - h(x), \varepsilon t) \ge \frac{t}{t + \phi(x, 0)}$$

for all  $x \in X$  and all t > 0.

$$\begin{split} N\Big(Jg(x) - Jh(x), \, L\varepsilon t\Big) &= N\Big(\frac{1}{a^3}g(ax) - \frac{1}{a^3}h(ax), \, L\varepsilon t\Big) \\ &= N\Big(g(ax) - h(ax), \, |a|^3 L\varepsilon t\Big) \geq \frac{|a|^3 Lt}{|a|^3 Lt + \phi(ax, \, 0)} \\ &\geq \frac{|a|^3 Lt}{|a|^3 Lt + |a|^3 L\phi(x, \, 0)} = \frac{t}{t + \phi(x, \, 0)} \end{split}$$

for all  $x \in X$  and all t > 0.  $d(g, h) = \varepsilon$  implies that  $d(Jg, Jh) \leq L\varepsilon$ . Hence we get

for all  $g, h \in S$ . The inequality (3.4) implies that

$$N\left(f(x) - \frac{1}{a^3}f(ax), \frac{1}{2a^4}t\right) \ge \frac{t}{t + \phi(x, 0)}$$

for all  $x \in X$  and all t > 0. Hence we have  $d(f, Jf) \leq \frac{1}{2a^4}$ . By Theorem 1.6, there exists a mapping  $C: X \to Y$  such that

(1) C is a fixed point of J, that is,

$$(3.9) C(ax) = a^3 C(x)$$

for all  $x \in X$ . The mapping C is a unique fixed point of J in the set  $M = \{g \in S \,|\, d(f,g) < \infty\}$ . This means that C is a unique mapping

satisfying the equation (3.9) such that

$$\inf \{ \mu \in \mathbb{R}^+ \mid N(f(x) - C(x), \mu t) \ge \frac{t}{t + \phi(x, 0)}, \forall x \in X \text{ and } t > 0 \}$$

for all  $x \in X$  and all t > 0;

(2)  $d(J^n f, C) \to 0$  as  $n \to \infty$ . This implies the following equality

$$N-\lim_{n\to\infty} \frac{1}{a^{3n}} f(a^n x) = C(x)$$

for all  $x \in X$  and all t > 0;

(3)  $d(f, C) \leq \frac{1}{1-L} d(f, Jf)$ , which implies the inequality

$$d(f, C) \le \frac{1}{1-L} \cdot \frac{1}{2a^4} = \frac{1}{2a^4(1-L)}$$
.

This implies the inequality (3.8) holds. The remains of the proof is similar to the proof of Theorem 3.1.

**Corollary 3.4.** Let  $\theta \geq 0$ , p < 3 be a real number and X be a normed linear space with norm  $||\cdot||$ . Suppose  $f: X \to Y$  is a mapping satisfying

(3.10) 
$$N(D_a f(x, y), t) \ge \frac{t}{t + \theta(||x||^p + ||y||^p)}$$

for all  $x, y \in X$  and all t > 0. Then  $C(x) := N - \lim_{n \to \infty} \frac{1}{a^{3n}} f\left(a^n x\right)$  exists for each  $x \in X$  and defines a cubic mapping  $C: X \to Y$  such that

$$N(f(x) - C(x), t) \ge \frac{2a(a^3 - a^p)t}{2a(a^3 - a^p)t + \theta ||x||^p}$$

for all  $x \in X$  and all t > 0.

*Proof.* The proof follows from Theorem 3.3 by taking  $\phi(x, y) = \theta(||x||^p + ||y||^p)$  for all  $x, y \in X$  and  $L = a^{p-3}$ .

## References

- 1. T. Aoki: On the stability of the linear transformation in Banach spaces. J. Math. Soc. Japan 2 (1950), 64-66.
- 2. J.-H. Bae & W.-G. Park: On the generalized Hyers-Ulam-Rassias stability in Banach modules over a  $C^*$ -algebra. J. Math. Anal. Appl. **294** (2004), 196-205.
- 3. T. Bag & S.K. Samanta: Finite dimensional fuzzy normed linear spaces. J. Fuzzy Math. 11 (2003), no. 3, 687-705.
- L. Cădariu & V. Radu: On the stability of the Cauchy functional equation: a fixed point approach. Iteration theory (ECIT '02), 43-52, Grazer Math. Ber., 346, Karl-Franzens-Univ. Graz, Graz, 2004.

- 5. \_\_\_\_\_: Fixed point methods for the generalized stability of functional equations in a single variable. Fixed Point Theory and Applications 2008 (2008), Art. ID 749392.
- 6. S.C. Cheng & J.N. Mordeson: Fuzzy linear operator and fuzzy normed linear spaces. *Bull. Calcutta Math. Soc.* **86** (1994), 429-436.
- 7. S. Czerwik: On the stability of the quadratic mapping in normed spaces. *Abh. Math. Sem. Univ. Hamburg* **62** (1992), 59-64.
- 8. C. Felbin: Finite dimensional fuzzy normed linear spaces. Fuzzy Sets and Systems 48 (1992),no. 2, 239-248.
- 9. Z. Gajda: On the stability of additive mappings. *Internat. J. Math. Math. Sci.* **14** (1991), 431-434.
- 10. D.H. Hyers: On the stability of the linear equation. *Proc. Nat. Acad. Sci. U.S.A.* 27 (1941), 222-224.
- 11. D.H. Hyers & Th.M. Rassias, *Approximate homomorphisms*, Aequationes Mathematicae, **44** (1992),125-153.
- 12. G. Isac & Th.M. Rassias: Stability of  $\pi$ -additive mappings: Applications to nonlinear analysis. *Internat. J. Math. Math. Sci.* **19** (1996), no. 2, 219-228.
- 13. K.-W. Jun, H.-M. Kim & I.-S. Chang On the Hyers-Ulam stability of an Euler-Lagrange type cubic functional equation. *J. Computatioal analysis and app.* **7** (2005), no.1, 21-33.
- 14. A.K. Katsaras: Fuzzy topological vector spaces II. Fuzzy Sets Sys. 12 (1984), 143-154.
- 15. I. Kramosil & J. Michalek: Fuzzy metric and statistical metric spaces. *Kybernetica* **11** (1975), 326-334.
- S.V. Krishna & K.K.M. Sarma: Separation of fuzzy normed linear spaces. Fuzzy Sets and Systems 63 (1994), no. 2, 207-217.
- 17. B. Margolis & J.B. Diaz: A fixed point theorem of the alternative for contractions on a generalized complete metric space. *Bull. Amer. Math. Soc.* **126** (1968), no. 74, 305-309.
- 18. D. Mihetţ & V. Radu: On the stability of the additive Cauchy functional equation in random normed spaces. J. Math. Anal. Appl. **343** (2008), no. 1, 567-572.
- 19. A.K. Mirmostafaee, M. Mirzavaziri & M.S. Moslehian: Fuzzy stability of the Jensen functional equation. Fuzzy Sets Syst. 159 (2008), 730-738.
- 20. M. Mirzavaziri & M.S. Moslehian: A fixed point approach to stability of a quadratic equation. *Bull. Braz. Math. Soc.* **37** (2006), no. 3, 361-376.
- C. Park: Fixed points and Hyers-Ulam-Rassias stability of Cauchy-Jensen functional equations in Banach algebras. Fixed Point Theory Appl. 2007 (2007), Art. ID 50175.
- 22. J.M. Rassias: On approximation of approximately linear mappings by linear mappings. *Bulletin des Sciences Mathematiques* **108** (1984), no. 4, 445-446.
- 23. Th.M. Rassias: On the stability of the linear mapping in Banach spaces. *Proc. Amer. Math. Soc.* **72** (1978), 297-300.
- 24. V. Radu: The fixed point alternative and the stability of functional equations. *Fixed Point Theory* 4 (2003), no. 1, 91-96.

- 25. I.A. Rus: *Principles and Applications of Fixed Point Theory*. Ed. Dacia, Cluj-Napoca, 1979 (in Romanian).
- 26. S.M. Ulam: Problems in Morden Mathematics, Wiley, New York (1960).
- 27. C. Wu & J. Fang: Fuzzy generalization of Klomogoroffs theorem. *J. Harbin Inst. Technol.* **1** (1984), 1-7.
- 28. J.Z. Xiao & X.H. Zhu: Fuzzy normed spaces of operators and its completeness. *Fuzzy Sets and Systems* **133** (2003), no. 3, 389-399.

DEPARTMENT OF MATHEMATICS EDUCATION, DANKOOK UNIVERSITY, 126, YONGIN, GYEONGGI 448-701, KOREA

 $Email\ address: {\tt khjmath@dankook.ac.kr.}$